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Answer the foilowing |
Each questwn carries 1 wezghtage

How does weali:h mammuatlon dﬂferent from pre oﬁt max1m1zat1on ‘? :

it capﬂ:al rationmg is not optimal, why would any company use 1t 7

| What; is an annuity ? What is the d1fference between ordinary annuﬂ y and annulty due ?

What is the fundamental goal of. f" rm's credlt pohcy ?

‘ 'What does ﬁnanelal sugnallmg mean in relatxon to stock spht and qtock 1epurohase 7

"'What is meant by cost of cap1ta1 ? s kS - , -
e Bx1=6 weightage)
; Part B

' Answer any four questwns
- Each questzon carnes 3 wezghmge

. D1scuss 'the ﬁnanc1a1 manager s role in ralsmg funds and allooatlng funds 7

' Deserlbe the tr adltlonal view on the optlmal cap1ta1 structure Compale and contrast w1th NOI

approach and NI approach

Slhcon Company currently pays a d1v1dend of‘ Re. 1 per s‘lare and has a share prlce of Rs. 20.

(a) If this d1v1dend was expected to grow at a 12 percent rate forever, what 1s the ﬁrms
expected or requared return on equity using a dividend dlsuount model approach‘? '

L (b} Tnstead of the situation in part (a), suppose that the dividend was expected to grow at'a 20 ‘

‘percent rate for five years and-at 10 percent per year thereafter Now what is the firm’s

expected or requu ed, return on eqmty

Turn over
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Arush Corporatlon currently gives credlt terms of net 30 days It hae Rs 60 mllhon in credrt sales
and its average collection period is 45 days. To stimulate demand the company may give. credit

,terms of net of 60. days. If it does mstlgate these terms, sales are expected to increase by 15 percent. |

After the change, the average collection perlod is expected ‘to be 7f) days, w1th no d1ffe1 ence 1n ,
payment habits between old and new customers : : -

_ Variable costs ate Re. 0.80 fm every Re. 1.00 of sales, and the company 5 beforc—tax requlred rate - -
of return on investment in recewables is. 20 percent Should the company extend its credlt perxod 9_ o
(Assume a 360- day year) D o

Emkay Company was recently formed to manufacture a new product It has the followmg capltal '
structure in market value terms : : S

Bs.

Debentures .. 6,000,000

Preferred stock . ,. L : 2,000,000

(,ommon stock (320 000 shares) © ... 8,000,000
16,000,000

The company has a margmal tax rate of 40. percent and the requlred retuin on equlty is aboutf - o
- 17percent. The Company’s debt is currently yielding 13 percent and its preferred stock is yleldmg
12 percent. Compute the firm’s present Welghted average cost of capital ' ‘

“The assumptmns underlymg the MM dnndend 1rrelevanoe theory are unreahstxc Explam and'
111ustrate : : ' S ' ‘
R '(4'x 3 :—-_-12 weigh;tagef
‘ ' *PartC - ' o
'Answer'ony three questions.
L'ach quectwn carries 4 weightage.

Greaves Ltd is cons1der1ng the ﬁnahzatlon of the capital structure. Accordmgly, the firm expects -

the EBIT of Rs. 1,50,000 per. annum on an investment Rs. 5,00,000. The company has access to ;:
raise funds of varying amounts by 1ssu1ng equlty share capital, 12% preference share and 10 %
debenture or any .combination thereof E;uppose it analyzes the followmg four optlons to ralse ‘the -
1equ1red funds of Rs. 5, 00 000 : :

- (a) By 1ssu1ng equlty share capltal at par
(b) 50 % funds by equity share capltal and 50 % funds by preference shares

NOR 5 % funds by equity share capltal 25 % by preference shares and 25 % by issue of 10%
' debentures R , , _ : .
(d) '25.% funds by equity share capltal 25 % as prefe1 ence share and oO% by the issue of 10% S

"debentures . : ST .

Assuming that Assummg Ltd. belongs to 35 % tax bracket compute the EPS under the above four o

optlons : :
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Isan incr’ease'in' the COllection period 'necessa'rily bad ? Discuss. '

Amber Company is conszderlng a new product hne to supplement its range ]me It is antlupated

-that the new product line w111 involve cash mvestment of Rs. 7, 00 000 at time 0 and Rs. 10,00,000

“in year 1. Atter tax cash inflows of Rs. 2,50,000 are expected in year 2, Rs. 3,00,000 in yea1 3,

- 16.

17.

18.

Rs. 3,50,000 in year 4, and Rs. 4,00,000 each year thereafter through year 10. Though the product
line mlght be vmble after year 10, the company prefers to be conservatlvc and end all ealculations

~at that time. -

(a)- If the requlred rate of return is 15 percent what is the nef present value of the project ? Is
it accoptable 2 ‘ ' :

(b) What is its 1nternal rate of return ? _ )
(c) . What would be the case if the required rate of return was 10 percent ?
(d) What is the-project’s payback period ? ' |

Anjani Ln‘mted and Bmght Limited are identical except for capital etructures Anjani has 50 percent

~debt and 50 percent eqmty financing, whercas Bright has 20 percent debt and 80 percent equity

ﬁnancmg (an percentages are in market value terms.) The borrowing rate for both ‘companies is
13 percent in a no—tax world and capital markets are assumed to be perfect. The earnmge ofboth

‘ compamee are not expected to grow, and aIl carnmgs are pz—ud out to shareholders in the form of

d1v1dends

If youown 2 percent of the conumon stock of AnJam what is your Rupee return if the ﬁ1 m has net :
operating income of Rs. 360,000 and the overall capitalization rate of the ﬁrm, }’eO, 1s 18 percent ?
What is the 1mphcd equlty capltahzatlon rate, ke ? ' :

Should companles in the same mdustry have approx1mately the same requu‘ed rates of retum on

investment pro;ects ? Why or why not ?.

T (8x4=12 weightage),
| Part o
Compulsory question.
6 wezghfage '

Datamatxcs Company expects W1th some dcgree of cer tamty to generate the followxng net income
and to have the followmg capltal expenditures durmg the next ﬁve yeals (in thousands of

- Rupees)

_Yeal‘“i-"_--“.zl_r-'  : 12 -3 ‘-7'4_: B
Netincome .- . " . 2,000 1,500 2,500 2,300 1,800
Capital expenditure - : 1,000 1,500 2,000 1,500 2,000

The company curr ently has 1 mﬂhon shares of common stock outstanding and pays annu al dlvxdends

- of Re 1 per share.

Turn over



(b

Determlne d1v1dends per share and external ﬁnancmg reqmred in ea(,h year 1f dlvuiend'. '

_pohcy is treated as a res1dual dec1s1on o

‘ Determlne ’che amounts of external- ﬁnancmg that w111 be necessary in each year 1f the o

. 'present annual dwldend per share is mamtamed

| '('c“).‘

()

'ﬁve years) max1m1.'f'ed‘? o S

_Determme dividends per share and the amounts of external ﬁnancmg that will be necessary .

ifa d1v1dend-pay0ut ratio of 50 percent is mamtamed

Under whlc,h of the three dividend pohc1es are aggregate dlvuiends (total d1v1dends over .

" (1x 6 = 6 weightage)-
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